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What factors determine the suitability of remote sites for replication?
(Select two.)
Response:

A. Availability of high-speed network bandwidth
B. Total capacity of the primary data center

C. Physical distance from the primary site

D. Frequency of data access at the remote site

Answer: A,C

What is the primary role of replication in a backup strategy?
Response:

A. To archive old backups for long-term storage

B. To create a real-time copy of data at a secondary site
C. To reduce storage costs through deduplication

D. To compress data before transferring to tape storage

Answer: B

A customer requires near-zero RTO and precise recovery to specific points in time. Which solution
should they use?
Response:

A. Tape-based archival backups

B. Zerto Continuous Data Protection (CDP)

C. Commvault standard backup policies

D. Veeam Backup & Replication with default settings

Answer: B
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How can compatibility with a customer’s environment be verified?
Response:

A. By assessing hardware lifecycle requirements

B. By using SPOCK and ISV compatibility lists

C. By limiting storage options to on-premises systems
D. By avoiding multi-cloud integration

Answer: B

A customer needs rapid recovery for mission-critical applications. What backup type should be used?
Response:

A. Crash-consistent backups

B. Application-consistent backups
C. Incremental backups

D. Tape-based archival

Answer: B

A company has a daily data change rate of 5% and multiple remote sites. How should they plan their
replication strategy?
Response:

A. Use high-speed networks to replicate data incrementally to remote sites
B. Reduce replication frequency to minimize network load

C. Store backups locally and avoid replication

D. Use cloud storage to archive backups without replication

Answer: A

How does HPE GreenlLake for Disaster Recovery benefit customers?
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Response:

A. Provides immutable storage options

B. Offers continuous data replication for rapid recovery
C. Limits backup options to tape-based storage

D. Requires fixed hardware setups

Answer: B

Which component of a Veeam solution handles backup and recovery orchestration?
Response:

A. Veeam Backup Proxy

B. Veeam Backup Repository

C. Veeam Backup & Replication Console
D. Veeam Data Mover

Answer: C

A business needs to minimize storage space usage and reduce data transfer costs. Which HPE feature
should be proposed?
Response:

A. Catalyst deduplication
B. Immutable storage

C. Backup to LTO tapes
D. Real-time analytics

Answer: A

What factors impact RTO planning?
(Select two.)
Response:

A. Maximum acceptable downtime
B. Network latency between backup sites
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C. Size of the dataset to be recovered
D. Retention schedule of archived data

Answer: A,C
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